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QUESTION NO: 1

How should 'done' be defined when multiple teams are working on a single product?

A. All teams must have the same definition of 'done'.

B. Each team must define and use their own definition of 'done'.

C. The Scrum Master defines when the item is 'done'.

ANSWER: A 

QUESTION NO: 2

What is the expected outcome of the first Sprint on a project?

A. A few working, tested features from the Product Backlog

B. Architecture and high-level design of the Product

C. Assignment of the team, Product Owner and Scrum Master

D. A well-defined release plan for the Product

ANSWER: A 

QUESTION NO: 3

Which of the following statements best expresses the role that the daily stand-up meeting plays in the monitoring of a Scrum 
project?

A. The stand-up meeting helps the Scrum Master to update the burn-down chart.

B. The stand-up meeting gives the team insight into their progress and their issues.

C. The stand-up meeting lets the Product Owner review the progress of the team.

ANSWER: B 

QUESTION NO: 4

An engineering organization is transforming their project management method to use Agile Scrum. 
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What is the best approach to the transformation?

A. Get a senior executive to champion the transformation.

B. Get the team managers to monitor their team's progress on a daily basis.

C. Make a swift transition and start using Scrum for all projects.

ANSWER: A 

QUESTION NO: 5

Which Scrum event is meant to look back and improve upon the finished Sprint?

A. Release Sprint

B. Sprint Retrospective

C. Sprint Review

ANSWER: B 

QUESTION NO: 6

A team estimates a Story using the Planning Poker technique. The team decides to allocate five Story points to the Story, 
because the Developers estimated two points and the Testers estimated three points.

Which statement is true regarding this scenario?

A. Points are assigned by the Scrum Master, not by the team. 

B. Points are assigned for the overall Story, not for parts of the Story. 

C. Points are never estimated, but always determined beforehand. 

D. The team forgets to ask the Product Owner about the estimate.

ANSWER: B 

QUESTION NO: 7

A Project Manager wants to track not just the rate of progress against tasks, but also the overall morale and happiness of the 
Scrum team.

What device will help track morale and happiness?
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A. A Gross Happiness index

B. A Niko-niko calendar

C. An employee satisfaction survey

ANSWER: B 

QUESTION NO: 8

Who should update the work estimates during the Sprint?

A. The Development Team

B. The Project Manager

C. The Product Owner

ANSWER: A 

QUESTION NO: 9

Higher management wants to know who will be the Project Manager of the Scrum project.

Which role is the same as the Project Manager role?

A. The Product Owner

B. The Scrum Master

C. The Development Team

D. There is no such role in Scrum

ANSWER: D 

QUESTION NO: 10

A customer requests a report that summarizes functionality added and defects found and fixed, right at the end of a Sprint.

Who may best prepare this report?

A. The Product Owner

B. The Scrum Master
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C. The team

D. This type of report should not be prepared.

ANSWER: B 
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